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Section A (30 x 2;marks)

For-each question from 1 to 30, four optiens are given. One of them is the

carrect answer. Make your choice (1,2, 3 or 4). Shade the correct ovaj ,
2, 3 or 4) on the Opticai Answer Sheet_.' o

1. Which of the following:ﬁrbﬁ)’fefﬁéé ére common to solids, liquids and
' gases? '

A Have mass

B Occupyspace .~

C Can be compressed

D Have definite shape and volume

(1) Aand B only
(2) Band Conly -, .
(3) A and D only
(4) Cand D only

2. Which one of the following.groups ‘consists of a solid, a liquid and a
gas? ' S ‘ '
(1) Book, water, heat
{2) Plastjcine, ojl, oxygen
- (3) Cup; ice, carbon dioxide
(4) Honey, fruitjtice; shadow

3. The diagram below shows some properties ofX .

' - _ Changes its shape when placed .
Has mass —I XTI in different containers o
1 and.a.definite — —
| volume

‘Cannot be compressed

Which'oné of the following is X most likely to be? ...

-:(1) Air |

(2) Syrup

- (3) Marble

" (4) Balloon
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- Ly compared the masses of-3: objects Ay B and C on. balances as
. shewn-below.. N

Arrange-the objects accordmg to the:r masses from the hghtest to the

. heaviest.

(1) A,B,C

(2) B,C, A
(3) C,A, B

(4) A,C, B

A ballis fully pumped with 250.cm® of air. Jerry pumps another.50 cm®
of air into the ball. What is the volume of the air in the ball now?

(1) 50-cm®

(2) 200 em?®

- (3) 250 cm"‘

(4) 300°chi®”

P



Which one of the followin

g set-ups shows what can be observed when
the water in the beaker

$ poured into the beaker of glass marbles?

(1)
@
@
water-
overflows .
(4)




-As a seedimg grows changes happen to rts seed leaves
| Wh|ch one of the /oﬁow:ng correctly sr/ tes: what happens to the seed
leaves?

(1)} They shrvel and drop off.~

(2) They develop into green, leaves. -

(3) Theéy grow bigger and begm to make food.
(4) They develop into: shoots of the young plant.

~The -diagrém béldw shows a seéd:—whiféhezhas' been out open.

Wriich one of the parts A, B, G and D protects the seed?

(1) A
(2) B
(3) €

D

e
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10

Chnstlna wanted to find. out if:mineral-salts-are:needed for seeds to )
germinate. Which two of the follownng set—ups should she use to carry

- out a fair test?

N, dry cotton wool -

without mineral

N moist cotton
S wool:without
mineral salts

Set-up C

(1) Set-ups'AandB.only
(2) Set-ups A and C only
(3) Set-ups B and D only

(4) Setups.CandD only

2 dry cotton wool
with-mineral

Set—l:_jp B . salts -

N0, moist cotton

‘wool with -
mineral salts

‘Set-up D

The table below shows the growth of some bean seeds planted in a

pot of soil by Aman.

[ No. of days |

“Feigit )

‘Day 1

0

Day 2

0

Day 3

0

" Which one of the following could explain the results shown in the table
above? :

(1) Aman did not water the bean seeds.

(2) Aman did not add fertiliser to the soil.

(3) Aman left the pot of bean seeds in a sunny place.
(4) Aman placed the pot of bean seeds in a cupboard.
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172 Which of thé following statements-abot plants dre'trde?

All plants. reproduce from' seeds.

Some plants can reproduce from plant parts other than seeds.
Different plant seeds take different number of days to germinate.
The time between the different stages of the life cycle of different.
plants is the same.- .:

(1) AandBonly

(2) B and Conly AR
(3. CandD only i
(4) A,Band Conly -

7 The following statements give the function of various plant parts.

A, -Stems hold the plant upright. .

B Leaves trap sunlight and. make food for the plant
C Roots absorb water and oxygen for the rest of the. plant:
D Flowers hold the leaves up to enable them to get €nough sunlight.

Which of the state'ment(-s) is/are false?

(1) Donly

{2) AandB only

(3 C and D only

(4) A,BandC only.-'



13.

14,

The diagram below: shows aleafwith itsspaits labelled:A;-B:and C:

Which of the parts help in the trarisportation of fod and water?

(1) Bronly &

(3) AandBonly
(4) BandConly

Thé_. diagram below shows a young plant.

Which one of the following statements about the young plant at this
stage of its life cycle is correct?

(1) Itis now able to reproduce.

(2) It can start to make its own food.

(3) It depends only on its seed teaves for food.

(4) ltdoes not depend on its roots to take in water.

-7
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16.

During a drive around a countryside, nglagimti@eds-ihal? steps were

cut into some slopes and grass was planted on them. His father told
him that this helps to prevent soil erosion-and even.if rainwater flows
down the slopes, the soil will not be washed away.

_Which one of the following is the reason for thésexplanation that
Douglas’ father gave? ST

(1). The gr’ass:.'dr}l-.-thé. slope collects allramwater ,f"f- '
(2) The roots of the grass hold the soil together.
(3) The roots take in water and mineral salts more éasily.

' (4) The grass makes food providing energy for it to stay on the s‘lépe. ,

' Jane placed two guppies in a tank. She added an oxygen pump-to

provide air for the guppies. However, after a week, she found that the

~ guppies still died.

What_- could have happened?

(1) The guppies fought.

" {2) No food was given to the guppies.

(3) There was not enough water for the guppies.

'(4) The guppies were not placed in a sunny place.



R VAN Onlysomel[wngthmgs e E T
| A1) cﬁ‘an’-:g‘row*-, o

(2) respondto:stimuli -

(3) need water and air

(4) can make their own food..

18, The pictures below show 2-different ebjects. x

~

C!_a_y_‘st'éfué‘ - o ;-;Pbiﬁéé[e_;in-vésg
T ‘

Which one of the following statements is not frue of the objects shown
above? .
(1) "Fhey sink in water.
(2). They cannot be bent.
(3) They are made of opaque materials; .
(4) They are made of man-made materials.




20.

Which one of the following is most I:kely to be *he object that Anna was

given?

(1) an apple
(2) a sponge

~ (3) a dictionary-
(4) a mobile phone

_-Anna was blindfolded and mstructed to: hold and fael an: object She
..commented “ltis light, smooth-and:round.” :

The -f'ollowing table shows the properties of 4 matéﬁa{s; A, B, C and 1D.'.

A : Yes - Yes: - ¥Yes. Yes.
B - Yes " No« .- .7 'No No _
C No No . Yés No-
D- + No - No

Yes Yes |
- Which matenal would be Lhe most suntable in makmg the outer casing
of a mobile phone? -

() A
(2)' B
3) €
(4D

_10
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U0 wW>

Mother went toetﬁez.sup:ermﬁmétaa'nd-.b-dﬂgﬁt:s@megr’@ce_-.ries.- She:

wanted to ensure that shiéscould:carry themhome-in-bags that satisfy
the following conditions: | |

e Waterproof |

* Do not tear easily

e Can be easily folded

Which one of the following materials should.‘Moth:e‘r’-s'- bags be made of?

(1) Paper
(2) Plastic

" '(3) Cotton
~ (4) Styrofoam

The statements below were made about the life cycle of a butterfly.
Which of the following statements are true?
The pupa is always eating and it grows rapidly.
A butterfly has wings in its larva arid adulf stages.
- The:tarva.moults several times-before: changing-inte a pupa.
A female butterfly usually lays its eggs onthe underside of a
leaf.

(1) AandBonly

(2) CandDonly
(3) B,Cand:Donly "
(4) A,B,CandD

I




23 There are-three-stagesin the Ilfe cycle of Anlmal Xas: shown in.the

diagram below SHLOF N :

Adult . Young

. Which of the following could Animal X'be? -

A Moth

B Mosquito
C Eagle.

D - Dragonfly

(1) A.and Bonly
(2) A and Conly
(3) B and D only
(4) C and D only

24. The flow chart below shows the characteristics of Animals A, B and C.

Yes
_..__-_’

lwesm
\ water? iy

Start - -

Which one of the following animals could be placed at A, B and C?

A B - C
(1) dog moth bird
(2) horse 4 frogY cockroach y
(3) shark toad crocodile
(4) guppy dragonfly( | squirrel

i2



26.

James, Jonathan-and Jacob made the followmg compansons between

the life cycle of a human and a frog

Name of boy Comparison T Human __ Frog

Develops from |
fertilised eggs |

James _ Yes Yes

| . Young resembles | . | .
Jonathan the dduit | Yes. ' No

 Uses lungs to
breathe

throughout its life |

cycle.

Jacob Yes . No

‘Whe made a cormrect comparison?

(1) James and Jacob only
(2) Jonathan and Jacob only
(3) James and Jonathan only

(4)- James, Jonathan and Jacob

Which one of the following. is not found in the human digestive system?

(1) windpipe

(2) gullet
(3) stomach
(4) anus

13




27+ Whichene:of: ihe follewing:systems.gives:our body its: shape and:
protects:the: tmportant orgarsinside it?: - R

1) . ) @

3) ;_‘§4)

e .

14



28 The<:d_ia'gramz‘aberlow;zého'ws-th‘e,a.G,i_ﬁeulaf@rﬁssystém% when the Heart:beats.

A, B, Cand D represent materials:

Heart beats

v

All parts of the body: |

D

r

| Removed to be
| discharged from
| the body.

carried: by: the blood:-

Wh!chof‘ihe following -correctly_represgﬁ‘tff}@(_?;ﬁ;ﬂ_c and D?

FETS
T
S A

B

D

[

“food

walter

| carbon dioxide |

nutrients . |

" water

i

oxygen -

nutrients

wastes

(3) oxygen

carbon dioxide

food

water

- (4)

wastes

food

water

{ carbon dioxide

!

29.  Which one of the followin
function to the tubes in a
different parts of a plant?

(1) mouth
(2) lungs
(3) blood vessels
(4) small intestine

15

g in the human body system has a similar
stem that transports water from the roots to




30.

Which of the following human body systems are workihgfogether when

a person is swimming?’

A Respiratory system
B Circulatory system
C Muscular system .

(1) A and B only
(2) Band C only
(3) Aand C only
(4) A,BandC

16



éName ' | 5 ' ' (Y
lClass p4( Ty . - |

Sectlon B: 25 marks -
~ Read the questions carefully and wnte down your answers i the spaces
provided. S :

31. The flow chart below classifies 4 things, A, B, C and D according to their
_properties.

Is it matter? | No- [al

Yes

Does it have a definite
shape?

l. No :
' 7 Yes

Can it be seen? , BNEPC

J o

D

' 'Yes

Match the words ‘ball’ ‘wmd’ ‘electncny and ‘tea’ correctly to the
letters A, B, C and D:: S . [2]

o0 W o2

17 i 2




32.

33.

A‘round ball.of plasticine was pressed until if became flat. Alex-:and?:Bill '

made comments about the plasticine after it was pressed.

+ .. Alex said, “The size of the plasticine has changed.”

Bill' said, “The shape of the plasticine-has changed.”

(a) Which child made the correct statement? [1]

-z

(b) Write down one other property of the plasticine that reméined the
same. S _ : (1]

Carrie went to a funfai_r and saw.‘a'c!own:\ﬁkisting a balloon into the shape

of a dog:.as shown below. |

She exclaimed, “Wow! How is that: possible?” The clown replied, “The
balloon that I'm using is very flexible.” "

Besides the flexibility of the balloon, state two properties of air which allow
the clown to twist the ballooy into the shape shown above., [2]

i)

18 . <4




In the box below, draw:a diagram to-show thie life eycle- of a green
bean: plant by wntmg the different stages and connectmg them in
: - (1]

order usmg arrows.

34 _(g).

(b)’ Celina put some green bean seeds in a container with moist cotton
wool and placed it in her-cupboard. After three days, she was
surprised that her green-beans: had germinated-even through there

was no light in her cupboard
By

Explain ' why light is_‘ not required for germination.-

19




39. -Sue placed-five:kidney beans:on-top of moist cotton wool in eéntainers P,

- &:Rand S. Each container: contained the same amount of the same type
of cotton wool. She placed all the containers:at'the-same spot in her
garden but watered them every. day with different amounts of water. She
then took note of the number of days each bean took to. germinate.

P R s
Sml of water 10mi of water  15mlofwater  20ml of water

. (@) What do you think-was the aim of Sue’s experiment? B )
(b) How would Sye know:that a seed - had geﬁminated?~" _ [1]

20 - 2




.. The diagram below S'h‘éi)_w,s_.- aplant.: - S S T U S

(@) Wite the parts of the plantin the boxes provided.” [

|

(b) Part A of the plant above carriés out an important function for the
plant. Part B helps Part A carry -out this functio_n. :

(i) Whatis the function of PartA? - . 2

(i) How does Part B help Part A carry out this function? - [1/2]




37..

Paul placed the roots of Piant A into.a-beaker filled w;th red-coloured
water. After a few hours, he cut the stem of the plant and noticed that
parts of the cut surface of the stem’ were stained-red:

(a) The diagram below shows the cross-section of the stem and the
parts which-were stained red have been shaded. Put the labels
‘Water-carrymg tube and “food—carrymg tube” in the correct boxes

below. =~ . 121

Cross-section of stem

(b) Where do the water-carrying tubes in the stem carry the water to? [1]

22 L - | 3




£ P ——
—

- {¢) Food-is completely digésted and-absortbed

The diagram:below:shows: the human.digestive system: .. .

Read the staternents below. Choose from the !etters A - F and write your

~ answers'in the spaces provided. . - _ [2]

(a) - Food is moved down this: passageway to
- the:body: here : : .

(b) Food is broken down into.a soupy liquid by
digestive juices here. . :

into the blood vessels here.

(d) Wasta' léa;rz(as the EOdy He%e.

23




39.

40.

The diagrams: below show the life cycles of:a butterfly.and a cOékreéeh.

(a)  Write the names of the imissing stages in the boxes provided. {1]

(b) -By observing the diagrams above only, state one difference betweén-

the life cycles of the two animals above. {1] |

The folfowing statéments are dboiit the fife, oycle of a‘thickerard a frog.”

Write ‘T” in the boxes provided for each statement.that.is true and “F for
each statement that is false. [2]

Statements - S '.: . I or ;F’

il (a') The tadpole has a tail and breathes through its.. -

lungs

:'..(b) . The frog’s eggs are covered |n a jelly-hke coatlng

that is not very tasty.

’1--(_c) -Both the chicken’s eggs and the. frog s'eggs need to

be kept warm in order for them-to’hatch. -

(d) There is a store of food in the chicken’s egg for the
young chick to feed on before it is -born.

24




41 Study the fo!lowmg ﬂowchart Wthh classaf ies matenais accordlng to their

" properties:-

AR

! Matéria'ls |

Natural

:

Leather

/\

Plants

1

- C

- e

=L

Write down what each of the fol!ow:ngleﬂersrépresents

(g) A

(b) B::

o) Ci

(d) D: |

25

[2]




4.

The table be!owshowshowsomehvmg thlngs havebeen class:ﬁed

a) Fill in the blanks with suitable headings for groups X and Y. [1] |

) ‘Living Things

Group W~ | * - GroupX | GroupY I GroupZ
Animals. (i) o A _ i*.-_, Bacteria

, -

goldfish © | ' hibiscus mushroom Saimonella
dogs. ' blrds nest fern yeast E. coli -

b) - What can.the living th!ngs in Group X do that the living things in the
other groups cannot? . L f1]

— END OF PAPER —

26
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31)A: electricity B: ball C: tea D: wind

32)a)Bill made the correct statement.
b)The mass of the plasticine remained the same.

33)i)Air has no definite shape.
ii)Air has no definite volime.

34
g ) —7 Seed\

adult plant «—— young plant

b)A seed relies on its seed leaves for food and does not make food so sunlight is
not needed.

-35)a)The aim of Sue’s experiment is to find out if the amount of water affects the
-time of germinate of the kidney beans.

b)Sue would know that a seed had germinated by looking at if the roots of the
young plant has came out.

36)a)A: leaves B: roots
.. b)i)The function of part A is it trap sunlight to make food for the plant.

ii)Part B absorbs water and mineral salts, water is required for Part A to make
food in the present of sunlight.

37)a)i)water—carrying tube ii)food-carrying tube
b)The water-carrying tubes carry the water to all parts of the plant.

38)a)8 b)C QE d)F
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39)a)i)Pupa ii)Nymph
b)The life cycle of a butterfly has four stages but the life cycle of a cockroach has
four stages.
40)a)f bT CoF dT
41)a)Man-made b)Animals c)cotton d)Glass .
42)a)i)Plants ii)Fungi

b)The living things in Group X can made their own food but the living in the other
Groups can.
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